No.

1 2 7K 31 1k
5/7~1 019 A
2 56 EX AN
3 15
4 19 Z
v
v
5 19 7K B A = N
7K
&
H
7K
2
bzl
6 20 B — 1 2]




<
“ X
X
I
E B
#
B
la
it
N
la <
la
—
=
< %ix
la
R X
o
—
#
S 5
Ik o <
< B’
Q <
i & @
= ¢
® N E
<
% < =
lid i
—
N
© - - ~ ~ ™ 0 ©
N N N N N N N N
5|~ > |o BE I




No.

15 29

N
16 35 123 1T &

35 1) 31 48
xR
X A
X B 1T
N
17 38 2 0B ==l B =
=) B B =) B
X =1
=) B F
18 38 25 T T 17
22
19 39 29 A A
A

20 1 &

=
21 1
22 1

R ~ X

~ 7K 1 10 0 @tex
i1 AL 1T
23 7
047638288
A H & ~ B H & <H




No.

24 7
25 13 B A B
L=}
17 A 30 183~5H 8 00v19
6H~9H 8 00v19 30
T B 7K
26
P2 52
F5 2
27 - [iz1]
IL\
N
28 4 14 N A A
2227 N A - ~
3034 10 54 20 1
10 6 20 2
50 1
10 60
10 11
10 1
10 4
29 8 7K A A A
30 9 4) () 31101 36 3H
A A
31 10 [i] A A




No.

32 9 10 % =2} R
1T
=)
A A
=2}
A xR
R A
33 9 10 T 3188 H
1=
34 11 1T A = 1T
A A A A A
[ ] [ 1BIO6100
DX DX-386 | 1 [ ]BJ9DX3 &
35 12 1T 2,50% 1T
36 13 3) () R
21 1T
37 17 A 7 A 1T X
=] bl 2| =5
X ¥ B X
A A X H A &
5] A 1t R H
37 22 1
A
38 18
3~5 <




No.

39 18
ANy
40 21 7K R
0427638288

A H € ~ A H € =£H

41 22 A
B +
42 12
04263828

A H € ~ A H € =£H

43 3
ANy
44 5
P9 1T R
B =]

1 P9
45 5
46 6 17 9 N

P9 1T

47 6 7 28




No.

48 6 B 2x Bt B2t H
2t
49 2 B A H A — &
T A ~ A A 1T
50 1 A B 1T
51 4 1= ) =
52 5~25 A
A 7
sl 7N
53 5~10
13~ o o
1419 o o L
~20 o o
[e] e]
100 NEC
130 o
]
140 o
190 7K o K
[e] [¢]
] ]
200 o
] (e}
54 11 2 o 83 o
189
55 21 =
56 22 =
57 24 =
58 25
59 25 Z




No.

60

25

61

62

63

=

A

H &

=]
042768288

~ H H £ XH

64

45

65

66

A

H &£

A

042768288

B & IH

67

68

69

70




No.

71

10

72

10

73

5-1

74

75

76

77

78

79

80

81

82

#H
#H

1m 18m 18m

o O O O O




No.

83 = = sl sl 73 1,0 0 kW 6kV
o 1,1 0 VA
o 2 0 VA
o 8 5 KVA
= BN
° C 1 XVA
o B 2 A
C 1 KVA
C 1 XVA
sl 1 kW
h 1 kW
sl 1 kW
o C 8kVA
047638288
[ ]
A H & A H &« <£H
84
85 B &




